9. 4.

9. 5.

31291/ OR

YT & AP I W TP S |

Throw light on supportive constituents of Preksha Meditation.
AT T R HEe o
Write an essay on Time Management,

arerEr/ OR

A9 TR R Ry o

Write an essay on Addiction Management.

gl 31 R feuufy forRaT / wrrite short notes on any Two.

(i) THT 9989 /Time Management.

(i1) WemeAT ‘{sz FSBIIE]] / Pre-requisites of Preksha Meditation.
(iii) Nksit’] / Jain Pilgrimage.

(iv) S BT /Jain Art.

+00

(i)
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PAPER -1 : JAIN CULTURE AND VALUE OF LIFE - |

TIME : 3.00 Hours MM : 70

Fdar : f=df ufg el & S g | aeft weAl & e gHF &)

Note : Attempt any five questions. Each question carries equal marks.
9. 1. 9YAM T8ER & 97 Sad W) Fawy o)

Write an essay on the life sketch of Lord Mahaveer.
31291/ OR

HeHP P TR F T |

Explain the Cycle of Time in detail.

¥, 2. 99 Gl $Y Fdmanei w et Sifer |

Throw light on the importance of Jain Culture.

arerEr/ OR

S a3 P IR A g9

Explain the Councling of Cannon.

Y. 3. VEMEIH B FeAHS T denfe JTIR W AT ST |

Throw light on spiritual & scientific base of Preksha Meditation.

(i) $.93./PT.0.



U 3. Haldp UG fOp-idIu @ F7 M 87 39 a1 &f fasoama,
AT g SIS BT qA1Y |
What do you mean by Centralization and Decentralization? Explain

charateristics, advantages and disadwantages of both.

31291/ OR
qawe HI AT T4 gD SRS Pl TSy |

Explain general and modern concept of Management.

Y. 4. Y b 959 Bl TR ¥ TS |

Explain the significane of Management in detail.

arerEr/ OR

NRPRATT A FT A &2 TS QI v =g T |
NTABRATT UG AT F HeT IR 913 |
What do you mean by Authority? Explain it's characteristics and

sources. Differantitate between Authority and Power.

g. 5. fafermm oifeh &t o8’ aRaRT 341 87 9! [9wd 19 Jegia
BT For iR St Rl Jem IR i gafie! o1 qamsd |
What is William Ouchi's theory of Z? Explain their charateristics
and do the evaluation. Describe the financial and non-financial
techinique of motivation.
e[/ OR
oy feogoft foRaal - / write short note on
(a1) fafy g sgar A=Al A9 |
Free Rein Leadership or Laissez Faire Leadership.
(q) THE™ Jer aIfie Fi Agw fReReRT

Tennenbaum and Suhmidits Leadership.

(i)

*ee
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Fdar : f=df ufg el & S g | aeft weAl & e gHF &)

Note : Attempt any five questions. Each question carries equal marks.

9. 1. v & HacAs 831 P auig HIf |

Explain the functional area of management.

arerEr/ OR

g AT B gRYINT HIRT | 3t RAvam, S2ea @ g =
i & ufpar & I9=mgy |

Define strategy. Explain it's charateristics, objective and process
of strategy formulation.

9. 2. AR F1 TARNE | 7 e B | 3adht Rdvan, anaegedn
TG q2d DI TR |
What do you mean by Delegation of Authority? Explain it's
characteristics, need and importance.

arerEr/ OR

o feoaufiar faTRau— / Short Notes on-
(1) TR 6t Upf T I297/ Nature and object of Motivation.
(3) atet & Gaed IRM foaRaRT |

Hergherg's Two factor Hygene theory

(i) $.93./PT.0.



1. 5.

arear/ OR
3ielt & qedie T 37T T T3 87 3feli & geania @t faftyr faferry
1 ITERVN g ol HIT |
What do you understand by valuation of shares? Discuss with

illustrations the different methods of valuation of shares.

=T el & SR R S 31 Geiicet anftis gt fafer 3 aTmeR R -

(i) oiTa R Ooft 4,00,000 F. (i) o & IR SR 12 gRiea

(iii) 9 I 2006-07 62,000 W.; 2007-08 59,000%. W 2008-
09 60,000 . {iv) 2007-08 % T I TUFT 2,000 . BT
TR BT BT 3T av- & a1S & $T T8 & 3IR af 2008-09
ST | 3000 . B S T TR &1 (v) TRy BT oo
ST & I a8t & HT B MM g & IR W HEATE |

From the following information, compute the value of goodwill by

using annuity method:

(i} Average capital Employed Rs. 4,00,000

(ii} Normal rate of profit 12%

{iii) Profit for the year 2006-07 Rs. 62,000; 2007-08 Rs.59,000; and 2008-
09 Rs. 60,000.

{(iv) Profit for year 2007-08 has been arrived at after writing off
abnormal loss of Rs. 2000 and profit for year 2008-09 includes a
non-recurring income of Rs. 3000.

arear/ OR
FfFact afer qa rfemm aier F @7 AR 82
What is the difference between equity share and preference share?

+ée

(iv)

118 BCOMD202
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TIME : 3.00 Hours MM : 70
frdar : fp=dT uim el & 9wR dfvig ) [+t 9Tl & ofd 999 & |

Note : Attempt any five questions. Each question carries equal marks.

7. 1. T s 7 3199 100 W, a1l 4,750 10 Wiy g ifemm sian
H1 10 ufde T W Mem w1 &1 [y a1 57 e & fore
FFHT A MGRH TATH 100 B, Fret SRS 372N 1 5 0iyerd 98 )
e 5o 8 1 e WR tifiem @1 SRS -1 S | far T
& | Soq =aERt $) SFa wRfeegT SR |

A Limited decided to redeem its 4,750 10% redeemable preference

shares of Rs. 100 each at a premium of 10% for this purpose the
company issued required number of equity shares of Rs. 100 each at
5% discount. The premium on redemption was provided out of profit
and loss account. Journalise the above transactions.

a1/ OR

39T o &R0 W FT AT B? 3 F FR01 JAT S AT & TRy
4 aigia Tl TagR {9y |

What is meant by Forfeiture of Shares? Explain the accounting
treatment of forfeiture of share and their Re-issue.

. 2. A9y wEivgfitsa fifics o 9) yofereis garas g d=
JABHTAN FOTAD & | QT FoTaad! B, JTdTeid FATAD! DI
TiReIfH® 37 & I8 Ay AT F1 10 wlied TRHfiS um FF F
ISR & ST BTN FaTeTd] B, QUIBTA Farere Bl qiRsifies

(i) $.9.3./PT.0.



. 3.

oH P I 99 AY A9 BT 1 Ufaad TRHHE I8 F1 FT PR |

1) QOIS Warer®! 1d dasiel Gares) 1 B upR 51
gy 27 9 g F50f 1 g @19 20,00,000 F. 7 |

2) JUPH] YUIHTAH T ALDTA HATAB! BT T YIRS Y 70T
HY R |

In Rajasthan Pharmaceutical Limited there are two whole time
directors and three part-time directors. The whole-time directors are
entitled to a commission @ 10% of the profit remaining charging
commission of the part time directors. The part time directors are
entitled for a commission @ 1% of the profits remaining after charging

the commission of the whole time directors.

1) The net profit of the company before charging any commission of

whole-time directors and part time directors is Rs. 20,00,000.

2) You are required to find out the total remuneration payable to the

whole time directors and part time directors.
arear/ OR

Ffe @ | AT AT S E? VP HEA F i @t F H
gra=efl wru=T 1fSfTE, 1956 & wayHET &1 J&T § auig Hifew |

What do you understand by final account of a company? Describe in
brief the provisions of companies Act, 1956 regarding prepration of

final accounts of a company.

31 9/, 2009 31 v fafics qen € fafics & fag FrefoRaa €

Following are the Balance sheets of A Limited and B Limited as on 31
March, 2009.

(i)

Liabilities ALtd, B Ltd. Assets ALtd, B Ltd.
Rs. Rs. Rs. Rs.
Share capital: Fixed Assets
Equity shares of {Other than
Rs. good will)
;g?deach fully 6,00,000 | 3,00,000 8,320,000 | 2,50,000
Reserves 2,00,000 | 60,000 Current 4,00,000 | 3,50,000
Assets
6% Debentures 2,00,000 | 1,00,000 Pre'é':";nary 20,000 | 10,000
creditors 2,50,000 | 1,50,000
12,50,000 | 6,10,000 1250000 | 6,10,000

9. 4.

1 forfics wa &t forfics &t @i @t Sgediaet #991: 1,20,000 . del
40,000 ®, W = m 8| v, forfics 4t fafics @1 3R aaiai & sl
& SFITE qedi & TR TR Y $c] 8 | SHT AT T Tl 4
et uffsSar ?ﬂﬁ‘l'q I/ Goodwill of A Limited and B Limited are valued at
Rs. 1,20,000 and Rs. 40,000 respectively. A Limited purchases B Limited
on the basis of intrinsic values of the shares of two companies.

31291/ OR

R & 9 & ThIa 3§ §Ig TEARRT & IR R H Tfradd 6
TUHT TR &RET A% 14 S IR 59 TR i ot £ |

How is purchase consideration determind on the basis of Net Assets in

the case of amalgamation in the nature of merger accounting the

Indian Accounting standard 14.

T T ORTes 10 . are ot e 9,000 et 37T @2 45,000 %,
& T T MR 2, T eniRa 3 afelt & forg 1o ot feffaa
TRl & | S ST 3 (IR 3 O TRl G, S T e ST N |

A company having 9,000 equity shares of Rs- 10 each fully paid and Rs.
45,000 reserves and surplus issues one bonus share for every three
equity shares held. Find out the value of shares before the issue of

bonus shares and after the issue of bonus shares.

{iii}



9. 3.

9. 4.

9. 5.

I29T I H FaEen FIfrw | g9 gRadT i @ ufe 29

Explain the objective clause. What is proceding of change?

arerEr/ OR

T -7 87 a9 ve ¥ IR gy |
What do you mean by member? Differentiate between member

and share holder.

FOT FIT &7 FOAT & AT UPHRT HI a0 H |
What is Debenture? Explain it's types?

31291/ OR

feoguft F0- / Short note on-
(31) 2i91gRI/ Shareholder.
(@) f3sft $Ut/ Private Company.
PO 3iherd & STRIET BT qui P |
Describe the liablities of a Company Auditor.
arerEr/ OR
T HUAT § FAIAD] 1 AR Feawefl afdsan &1 quie @ |

Described fully how directers are appointed in a Company.

+00

(i)

119 BCOMD203
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PAPER - IV : COMPANY LAW AND AUDITING

TIME : 3.00 Hours MM : 70

e : aft gt & SR A ) gt weat F aiw TwE £

Note : Attempt all questions. Each question carries equal marks.

. 1. 3ipe RUE ¥ 3 F7 993 £7 39T UNeY g1 |

What do you mean by Audit Report? Prepare it's proforma.
31291/ OR

riaRe FRemr | ST 1 T8 §7 oTaig e q andRe

e H 3R FATS |

What do you mean by Internal check? Diffrence between internal

check and internal audit.

Y. 2. Ui W Y T WS £7 TP 6 RN q SFRIaie o
Juig & |

What do you mean by Directer? Explain it's qualification & dis
qualifications.

37T/ OR
foft g ArRfe Fot A R 99139 |

Explain diffrence between Private and Public Company.

(i) $.93./PT.0.



9 4.

9 5.

T S BT P 3T TR T IR P 0T F=A P [T i faeem |

Discuss the method of computation of Tax on total income of an individual.
arear/ OR

R e AT 1961 & oFia famg g aRar & = FeRor &

Hﬂ@ﬁfﬁ &I g IR0 1/ Discuss the salient features of assessment of Hindu
undivided family under the Indian Income Tax Act. 1961.

S I AR PR GBI AT F Y AT TS 87 5 TG H IR
AT & AeEyqul TaYE B TUE R N |

What do you understand by "Pay as you earn scheme." State clearly the
important provisions of Income Tax Act. regarding it.

a1/ OR

. GI ol BT T 10.03.1940 B gam o | Fr=felad geal 4 &=

fafor af 2016-17 & o) S a= SIRT g 27 IR Al 30T DR |
Shri Subhash Sharma was born on 10.03.1940. Find his tax liabilities and
tax payble for the AY. 2016-17 with the help of following information-

(i} Salary received 1,30,000
(ii} Receipts from royalty of Books 5,000
{(iii) Monthly rent of a house letout 6,000
{iv) Municipal Taxes on house per annum 1,000
{v] Taxable long-term capital Gain 30,000
{vi} Interest received from listed debenture of a company 27,000
{vii) Deposit in P.P.F. 20,000
{viii) Amount received from a lottery 14,000
{ix} Premium on the life of married major self-dependent son 5,000
{x) LLC. premium paid on dependent minor nephew 2,000
{xi} Interest received on saving bank account 20,000

{xii} N.S.C.purchased on 28.01.2011 for 10,000 interest on such NSCin 1¢¢
year is Rs. 8.16 and in 2™ year it is Rs. 8.82, for 3" year 9,55, for 4*
year 10.33, for 5% year 11.17 and for 6™ year 12.08 for every
investment of Rs. 100.

{xiii) Income from selling & buying the securing the securities kept as
business stock Rs. 67,000 onwhich Rs. 17,000 Security Transaction Tax is paid.

{xiv} He deposited Rs. 4,000 of advance Tax on 31.12.2015.

{iv) *4e

120 BCOMD204
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B.COM. SECOND YEAR
PAPER - V : INCOME TAX LAW AND PRACTICES

TIME : 3.00 Hours
e - 31 uig e '@ AT [t W > T P 2

Note: Attempt any five questions. Each question carries equal marks.

¥ 1. F=faRes favor & o= Fufor g 2016-17 & o= st sifeg & a9

i & TR TrT A Y TR FRI-

(i} s afasy e § sigem & o)y 3,600 ®., Sigs 91 Wt
¥ forl1 2,400 ®. vd 7HM fF=R & fo10 901 a9 & 10 wfrera $
T P & A8 g 999 9 5 21,000 . |

(i} TETE 9 300 B URME| (i) IFF 3,000 . |

(iv) ARG WAl 400 . UfAHE 9 10 a¥ U9 Ugell qR whgat fa=m T |

{(v) o afisy Y 9 Feear @ sives 7,200 .

(vi) US & AT Afd W 15 Ui i X F I & 9,000 F. |
(vii) TP gafoud T Pt AT | R SR FBE P BRE 2,000
. uferg & s wifr @1 fimmn 200 . ufemrg anfiet 81
{viil) I O et & e s fory s ¥ P 7 1,500 . @R &R
(ix) T T F IRE g Ao B G 9S4 2,000 .
Hferrs &1 A8 J Sivaa BU 9 25 ot a9 § Foga s ¥ 400

%, UfcIE 99e FX B |

(x) @ s AW R 9,000 @, Y arsfos = 337 6,600 6. |

{xi) 15,000 % & ST G diferdt U= IR SR HF PRI 2,000 % |

(xii) SO A T F S R TT A A 17,000 F. T 1| 39 TR ut e
T (T = g aR T | S W R Rt | g o |

Compute the taxable income from salary of Shri Ankit for the assessment
year 2016-17 from the following details-

(i) Net salary received Rs, 21,000 after deduction of contribution to an
unrecognised Provident Fund Rs. 3,600; Rs. 2,400 for life insurance
premium and house rent 10% of basic salary.

(i} Dearness allowance @ Rs. 300 per month ({iii) Bonus Rs. 3,000.

(iv) Entertainment allowance @ Rs. 400 per month which was granted 10
years back for the first time.

MM : 70

(i) $.93./PT.0.



9. 2.

(v} Employer's contribution to unrecognised provident fund Rs. 7,200,
(vi) Interest on the accumlated balance of fund @ 15% Rs. 9,000.
(vii} Facility of furnished accomodation. The rent payable by the employer
is Rs. 2,000 P.M. including Rs. 200 P.M. as rent of furniture.
(viii) Free supply of water and electricity for which employer spent Rs.
1,500 in the previous year.
(ix} Free lunch during office hours costing Rs. 2,000 P.M. on an average
there are 25 working days in a month. The employer recovers Rs.400
P.M. from the employee. (X} Travelling allowance received Rs. 9,000.
The actual expenditure was Rs. 6,600 only. (xi} Life Insurance premium
paid by employer Rs. 2,000 on policy of Rs. 15,000 taken on the life
of employee. {xii} During the previous year he spent Rs. 17,000 on
the treatment of his wife. Whole of the amount was reimbursed by
the emplovyer. The treatment was taken in a Private Hospital.

31291/ OR

AHH TR & aififes Iod | a7 A 89 FH YR F & S 82
T T | aR arg 3T & Ao § aiffe 979 § | B9 @ sl

'\Eﬂﬁ 2 ?/ What is meant by annual value of house property? How it is
determined? What deductions are allowed from annual value in
computing taxable income from house property?

U% TR & HR-IFG AT $I TUET T § P A T FIeaT HGd 2 2
Specify the expenses which are expressly allowed in computing taxable

profits from business?
arerEr/ OR

1 310, 2015 P 3ft 372RP & U WL 1, & 500 T9am 3797 | T H
100 319 ITPN 1992-93 ¥ G 3R & B9 § WH 5T &, Fafh 200 3
1990-91H 176 6. WA SN H R AT A T | 37 i A BT FA &
TG § 200 . TATA TG 3T T P B H gOR T | 13FEER, 2014 B
et 1. 7 100 & B R I AR aielt @1 fofa fam | sff arenas @1 200
PR 3797 15 Fa<, 2015 P 7 g2+ a6 7§ T 500 3 B 7,
2015 # 190 %. B R W 34 a1 F=1 1,000 &. Telelt NS W =0 g
it 19M® P USH a9 H TR FV | 1990-91, 1992-93 TAT 2000-
01 % ford AT AT Gudie T 182, 223 TAT 406 &

(i)

9. 3.

On 1 April, 2015 Mr. Ashok had 500 equity shares in Swadeshi Ltd. Out of
these 100 shares were received by him as bonous shares in 1992-93, while
200 shares were purchased by him in 1990-91 @ Rs. 175 per share. He had
paid Rs. 200 as brokerage and other expenses for purchasing these shares.
On 1** October, 2014 Swadishi Ltd. issued "Right issue” @ Rs. 100. Mr.
Ashok got 200 Right shares on 15" January, 2015, Mr. Ashok sold all the 500
shares in May, 2015 @ Rs. 190 per shares and spent Rs. 1,000 on brokerage
etc. Compute the amount of capital gain of Mr. Ashok. The cost inflation
indices for 1990-91, 1992-93 and 2000-01 are 182, 223 and 406 respectively.

Ta ¥ & SR 4 G WER T T b w9 iR afdrn o -

During the previous year Mr. Suresh Choudhary received the following
amounts as interest :-

(i) Rs. 10,000 on Raj. Govt. Loan. 2025

{ii} Rs. 13,500 on debentures of Jodhpur Municipality.

(iii) Rs. 22,500 on Tax-free debentures of Life Insurance Corporation.
{iv}] Rs. 8100 on Tax-free debentures of Century Mills Ltd.

{v) Rs. 3,600 on debenture of Udaipur Iron Works Ltd.

g e & IR-gaa ®U-17 98 [ ® giea € 98 SR
AMOE I & FO-U7 9Ra | et off v Rfa w gfta 96 8 aw
e af 2016-17 & R st R FHed Hi 37 AL F g oAy
-G AT I G gL F B P I 91 i 1 afyr W 2 ufdera
T A TRAT & TAT ST P I TP I H 1 JAT% TAT 1 T
o1 fopar ST & /The Tax free debentures of Century Mills Ltd. are listed
at mumbai stock exchange while the debentures of Udiapur Iron Works
Ltd. are not listed at stock exchange in India. Compute the taxable income
from other sources of Shri Suresh Choudhary for the AY. 2016-17 assuming
that his Bank has charged 2% commission on the actual amount of interest
collected and the interest in each case is received on 1** July and 1**January.

31291/ OR
FIf A gff v S AW o 99 9 ARiad AT-IR AR 5 waEeEi

1 g F | / Discuss the provisions of Income Tax Act. relating to the
set-off and carry-forward of losses.

(iii) %.9.3./PT.0.



9. 3.

9. 4.

9. 5.

T SRIGe S ISP | THE Tl |

Highlight the indicators of regional imbalance. 14
31291/ OR
7 = feoqult fIRaT 1/ Write note on following : 7+7=14

(i) §ife® FifT / Monetary Policy.
(ii) TTpISIT AT / Fiscal Policy.

Ia # et Teaw 1 areH, 396 TR W 396 SUarT &
farT SEC] 2T 1 / Explain the role of foreign collaboration,
problems and suggestions for its utilisation. 4+4+6=14

"I P TS ITRETRId] & ey fgarffa &'/ | 99emsd |
T & RS a1 & Uiy e & qEiSTe STeiRical 3T f[ae
FIfI0 |

"The concept of social responsibilities of business is a two way
traffic." Describe and discuss the social responshbilities of
business towards different sections of society. 4+10=14

/=1 u= et fRaU /Wirite note on the following. 3.5x4=14
(37) srFaxisc a1 P / International Monetary Fund
(3) fasa §& / World Bank
(¥) 1999 =R T84 / World Trade Organisation
(2) et weae o / Foreign Direct Investment
31291/ OR
T TG O] Bl HATT P a1l ST IR P Afer

TS TAT AR H DI [T s samsy (Xarfe afed) |
Explain with diagram the effects of International Environment on MNC
and also represent different stages of Business Cycle with graph.
8+6=14
L 22

(i)

121 BCOMD205
DISTANCE EDUCATION EXAMINATION - 2017

B.COM. SECOND YEAR
PAPER - VI : BUSINESS ENVIRONMENT

TIME : 3.00 Hours MM : 70

ey : i ure w9 & SR AR g ue & oiF TH £

Note : Attempt any five questions. Each question carries equal marks.

Y, 1. TIAR U JRAERY & S TeE Ht S Hifore | wr & ameaiis
3P F GRS FRITER & NeTTH & T8 P TIATZY |
Explain the relationship between business and environment. Also
explain from business point of view that study of business
environment is important. 6+8=14

e/ OR
RA 4 $I g b PROT B IO g, 39 AR B S FBR
SR o TR |
Write down the causes of increase in price in India and explain
governmental measures to control price rise. 7+7=14

U2, ARG RSN $ PRUT BT IAR §Y, T T P P SUR] B
Ioetd BT |
Give the reasons of Unemployment in India and what are the
remedies to cure it. 7+7=14
31291/ OR
T T | o aRad & Jn 39 A weri #1 g Hif |

What is meant by Inflation and state it's various types? 4+10=14

(i) $.93./PT.0.



122 BCOMD206
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B.COM. SECOND YEAR
PAPER - VII : PROJECT MANAGEMENT

TIME : 3.00 Hours MM : 70
fAdar : fr=dl ui oAl & IR AT USRS UH F IiF GHH £ |

Note : Attempt any five questions. Each question carries equal marks.

T 1. Toiieh] [AeiNor | 9 &7 T 87 U UNRIIOMT ¥ aifeed [t
TSR B AEE F e S |
What do vou understand by Technical Analysis? Describe the
desirable diffrent types of feasibility.
arear/ OR
qREeHT BT IR HIRT | 96T TE [edvan w& seeat &1
guig HINTT I/ Define Project. Discuss the main characteristics
and objectives of Project.
U 2. NG WA X A & or ok It @1 avie Hif
Describe the merits and demerits of IRR method.
arear/ OR
fAferRag uv fewguf} forRau- / Wrrite short notes on the following:
(1) B qea o / Shadow Pricing.
(3) i fa2emr / Financial Analysis.
7. 3. S Hfiod ST F1 87 AP e Jn IR 9 WIS H R
WSS BT |
What is a matrix organisation? Deffrenciate the line and staff

organisation and matrix organisation.

(i) $.93./PT.0.



9. 4.

3rer@r/ oR
RIS TeRuE & PR Ta IIRRAl B Tse HIFT |

Explain the responsibilities and tasks of Project Manager.

AT AFd-ay e 6 ufgk F1 vl Fif |

Describe the process of Social Cost Benefit Analysis.

3@/ OR
e s et v Rl 9o U T T fAeR R @ B
IR | a1 99 X 3iR ¥ Suey 8, 9@ & @ 1,20,000 .
2 | 7T T AT B JoT HH & 1Y 10 ufdre ag R @

TRt far ST 2 | 3R S 9 g 39 9 @@ $F o 7 yeR A
afer 8- / Asha Engineering Company is considering the purchase

of a new machine. Two machines X and Y are available in the
market, each costing Rs. 1,20,000. In camparing the profitability
of the machine a discount rate of 10% is to be used. Earnings
after tax but before depreciation are expected to be as follows:

Years Machine 'X' Machine 'Y’
1 30,000 15,000
2 50,000 30,000
3 40,000 50,000
4 40,000 60,000
5 30,000 50,000

I8 adTH qoa RifEr q2n 9H g0 gaeis [Af &1 maT 3
g0 garsd fb Bt 9ol aifes @ AT 21/ Indicate

which machine would be a more profitable investment, using
net present value method and present value Index method.

(i)

9. 5.

T 25 1 Te=e v it e 7 U 39 9 UR AT e &
& SADT AT 9ia (5) a9 § IS DI AT T | 39 = FEemsi
F AMYR R U=4Hi B Tes g & aefis o s b o
3ferdT 78l :

The management of Santra Traders wants to by a new machine on
the condition that its cost should be recovered in five years. Advise

the management whether the machine should be purchased or
not on the basis of all the following information :

Rs.
(i} Cost of the machine 5,00,000
(i) Revenue generated p.a. 6,00,000

(iii) Variable cost 50% of Revenue

(iv) Annual fixed costs other than Depreciation 25,000

{v) Life of the machine is 10 years. Depreciation is provided on
straight line method.

(vi) Taxation to be charged at 50% of profit.
31291/ OR

R Sfie T 6 RAfte sraeenal &1 Gag & guiq Hifvw |

Describe the various phases of Project Life Cycle.

*ee

{iii}



